## Acta Universitatis Carolinae. Mathematica et Physica

## Ladislav Beran

On Bumby's equation $\left(x^{2}-2\right)^{2}-2=2 y^{2}$ : a solution via pythagorean triples

Acta Universitatis Carolinae. Mathematica et Physica, Vol. 28 (1987), No. 1, 39--40
Persistent URL: http://dml.cz/dmlcz/142584

## Terms of use:

## © Univerzita Karlova v Praze, 1987

Institute of Mathematics of the Academy of Sciences of the Czech Republic provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these Terms of use.
This paper has been digitized, optimized for electronic delivery and stamped
with digital signature within the project DML-CZ: The Czech Digital
Mathematics Library http://project.dml.cz

# On Bumby's Equation $\left(x^{2}-2\right)^{2}-2=2 y^{2}$ : a Solution via Pythagorean triples 

L. BERAN<br>Department of Algebra, Charles University, Prague*)

Received 15 June 1986

An elementary solution of the Bumby's equation is given.

Je udáno elementární řešení Bumbyovy rovnice.

Дано элементарное решение уравнения Бумбы.
R. J. Stroeker devotes a recent paper [3] to a survey of methods which can be used to solve the equation mentioned in the title. He considers also the possibility of finding an entirely elementary solution but after a while he concludes his analysis with the words "... we soon realize that our line of reasoning most likely leads nowhere." No doubt most independently minded readers will find it tempting to say, "But perhaps there is an elementary approach which leads somewhere."

It is shown below that the equation can be solved by an elementary technique which is the oldest one known in Diophantine analysis (cf. [1]).

Recall first the following two basic facts: (i) If $a \in \mathbb{Z}$, then $a^{2} \equiv 1(\bmod 4)$ or $a^{2} \equiv 0(\bmod 4)$. (ii) If $c^{2}=a^{2}+b^{2}$ and $a, b \in \mathbb{Z}$ are relatively prime, then there are relatively prime integers $p, q$ such that $\pm c=p^{2}+q^{2}$ and $\{a, b\}=\left\{2 p q, p^{2}-q^{2}\right\}$. If, moreover, $a, b, c \in \mathbb{N}$, then $p, q \in \mathbb{N}$ (cf. [2]).

Now

$$
\begin{equation*}
\left(x^{2}-2\right)^{2}=2\left(y^{2}+1\right) \tag{1}
\end{equation*}
$$

and, by (i), $y=2 k+1, k \in \mathbb{Z}$. Hence $\left(x^{2}-2\right)^{2}=4\left(2 k^{2}+2 k+1\right)$ and, therefore, $x=2 m, m \in \mathbb{Z}$. Accordingly, $\left(2 m^{2}-1\right)^{2}=k^{2}+(k+1)^{2}$. By (ii), $\pm\left(2 m^{2}-1\right)=$ $=p^{2}+q^{2}$ and $\{k, k+1\}=\left\{2 p q, p^{2}-q^{2}\right\}$. If $1-2 m^{2}=p^{2}+q^{2} \geqq 0$, then $m=0$ and this yields two solutions $(x, y)$ with $x=0$ and $y= \pm 1$. Let us further consider the case where $2 m^{2}-1=p^{2}+q^{2}, k=2 p q$ and $k+1=p^{2}-q^{2}$. Then $2 m^{2}=p^{2}+q^{2}+1=2 p^{2}-2 p q$ and so $m^{2}=p(p-q)$. Since $p$ and $p-q$

[^0]are relatively prime, $p=r^{2}$ and $p-q=s^{2}$. It follows that $1=p^{2}-q^{2}-2 p q=$ $=-2\left(r^{2}-s^{2}\right)^{2}+s^{4}$. Putting $t=r^{2}-s^{2}$, we get
\[

$$
\begin{equation*}
s^{4}=1+2 t^{2} \tag{2}
\end{equation*}
$$

\]

Now, the equation (2) can be solved by Pythagorean triangles. In fact, it suffices to rewrite (2) as $s^{4}+t^{4}=\left(1+t^{2}\right)^{2}$ and to suppose that $s, t \in \mathbb{N}$. Referring to (2) and (i) we first see that $s$ is odd and that $t$ is even. In view of (ii) we also have $t^{2}=$ $=2 P Q, s^{2}=P^{2}-Q^{2}$ and $1+t^{2}=P^{2}+Q^{2}$ where $P \geqq Q$ are relatively prime natural numbers. From $1=P^{2}+Q^{2}-2 P Q$ we conclude that $P=Q+1$. Thus $s^{2}=(Q+1)^{2}-Q^{2}=2 Q+1$. From $P^{2}-Q^{2}=s^{2}$ and (i) we infer that $Q$ is even, i.e., $P$ and $2 Q$ are relatively prime. Suppose $t \neq 0$. Then $t^{2}=2 P Q$ implies $2 Q=a^{2}$ where $a \in \mathbb{N}$. However, it is easy to check that two consecutive integers $2 Q$ and $2 Q+1$ cannot be squares of natural numbers. Hence, $0=t=r^{2}-s^{2}$ and $1=s^{2}$. This gives the solutions $(-2,-1),(-2,1),(2,-1),(2,1)$ of $(1)$.

The remaining case $2 m^{2}-1=p^{2}+q^{2}, k=p^{2}-q^{2}$ and $k+1=2 p q$ can be treated analogously; details are left to the interested reader.

Consequently, all the solutions of (1) are characterized by $y= \pm 1$.
Note. Another elementary solution of (2) can be found in [2; p. 98].

## References

[1] Bashmakova, I. G. and Slavutin, E. I.: History of Diophantine Analysis. From Diophantus to Fermat (Russian), Nauka, Moscow, 1984.
[2] Sierpiński, W.: Elementary Theory of Numbers, Państwowe Wydawnictwo Naukowe, Warsaw, 1964.
[3] Stroeker, R. J.: How to solve a diophantine equation - a number theoretic excursion, American Mathematical Monthly 91 (1984), 385-392.


[^0]:    *) Sokolovská 83, 18600 Praha, Czechoslovakia

